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1. REBROHE
(1) EEIRR

BREEEERD [ 1,000] [ 1,000] [ 0]
BEEEZIFR 1,000 1,000 0
ZTMEE [ 2,000, 000] [ 1,974, 000] [ 26, 000]
SEXWEE 1,720, 000 1,714,000 6, 000
EMSEXNEE 280, 000 260, 000 20, 000
ZMEBEF [ 2,544, 000] [ 2,563, 000] [ A 19,000]
ZHR MBI 674, 000 693, 000 A 19,000
ZEE TR HEERBBI R E 1,870,000 1,870,000 0
TMRAEEF [104, 695, 000] [102, 321, 000] [ 2,374,000]
ZTMRZAE 103, 990, 000 101, 264, 000 2,726, 000
ZIMHETHEFEZEE 605, 000 957, 000 A 352,000
ZMBBEHLESAETRZAE 100, 000 100, 000 0
ZWMHF [ 50, 000, 000] [ 50,000, 000] [ 0]
ZIED S EHREEE 50, 000, 000 50, 000, 000 0

FEUR £ [ 126, 000] [ 126, 000] [ 0]
ZEF R 1,000 1,000 0

FEUR £ 125, 000 125, 000 0
EEIRRE 159, 366, 000 156, 985, 000 2, 381, 000

(2) BEER

EXE [156, 039, 000] (154,171, 000] 1, 868, 000]
AN 196, 000 196, 000 0

1% B =REN 3, 080, 000 3,080, 000 0
farFL 217,094, 000 26, 689, 000 405, 000

=1 150, 000 150, 000 0
REHTER 1,268, 000 1,229, 000 39, 000

wEE 30, 294, 000 29, 250, 000 1,044,000
BAELEE 4,718, 000 4, 605, 000 173, 000
REXBE 1,637,000 1,453, 000 184, 000
HEME 12,502, 000 12, 268, 000 234, 000

PR 360, 000 214,000 146, 000
JEOKHE 360, 000 360, 000 0

N A& 1, 336, 000 1, 309, 000 217,000

BREE 88, 000 148, 000 A 60, 000

B EME 170, 000 812, 000 A 42,000
LHRELE 1, 320, 000 1, 320, 000 0
EFHH 641, 000 886, 000 A 245,000
FERAMRUVERER 3, 861, 000 3,783, 000 18, 000

RE 0 50, 000 A 50,000
peAfifi=klk= 179, 000 179, 000 0
BN 5,741,000 5, 758, 000 A 11,000

EitE 217,178,000 21,232, 000 A 54,000

E LR ERER R & 1, 250, 000 1,250, 000 0

it 31,950, 000 31, 950, 000 0




A FEAPRBERLHERES (BAL:F)
# B HEE (k35S 1R

EHEE [ 2,616, 000] [ 2,123,000] [ 493, 000]

1% B AN 606, 000 587, 000 19, 000
farFY 367,000 359, 000 8,000
REHRTER 32,000 32,000 0
BRELE 116, 000 128, 000 A 12,000
REXBEE 30, 000 30, 000 0
HEME 36, 000 5,000 31,000
SEKHE 40, 000 40, 000 0
BIEEME 38, 000 33, 000 5,000
EFHH 143, 000 33, 000 110, 000
FERAMERUVERER 220, 000 90, 000 170, 000

Ef 300, 000 145, 000 155, 000
BImEEE 19, 000 19, 000 0
HMRHAR 301, 000 280, 000 21,000
bN=EiEk 258, 000 238, 000 20, 000
XILFIR 110, 000 144, 000 A 34,000

REE A 158, 655, 000 156, 294, 000 2,361, 000
LR EIBRE 711, 000 691, 000 20, 000

2. EEINMEREDER
(1) EESREE
RE SRR 0 0 0
(2) #ENER

RESNERR 0 0 0
LR ESMBRER 0 0 0

4 — AR IE R B4 EE IR R AR 711, 000 691, 000 20, 000
—RERMEHREERS 31,789, 000 31,098, 000 691, 000
—IRIEREIERRES 32, 500, 000 31,789, 000 711,000

I 5% IERREAE IR D AR

ZIEFTE 50, 000, 000 50, 000, 000 0
ZMFEDHEE 50, 000, 000 50, 000, 000 0
—RRIERREAEE~ DR EEE A 50,000,000 [ A 50,000, 000 0

2 B T IE WK BA R 1R R AR 0 0 0
HEEKRMEHRERS 50, 000, 000 50, 000, 000 0
EEERMERRES 50, 000, 000 50, 000, 000 0

I ERMEHARES 82, 500, 000 81, 789, 000 711,000




